Time : 3 Hours Marks : 200
Instructions :

(i) Each question carries one mark.
(28 (D45 =8 Hordy Soke.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS aVYS (D (D adg &S ¢35t DO TS BIrErd B0y D)8V &7
2r00W woB 1, 2, 3 B8 4 T ad S OMR Jreed H(E008° (9418 Do 040DS
Sowg o DEE /el wrd rowod D) GHBVrA0D JoDB T,

1. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
2.8 (Horodirdd Vel wdIrorod® 510 H08 H0dn DADS dorod® 240 L0008
DodYyHhen ST, AT IEnE” IndeThy 30 e HOAD Jod® of &8 (Homrodirdd
ST DoBE Ho HoHo
(1) 250 (2) 276 (3) 280 (4) 285

2. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) 1 & II together give the answer

& (od argpgod ISH0d

Sae o @1’53@;50@ A, B, C o&?, @1’535 A3 q0&8rg g 0% é &929’5%590 doag

L3 g3y dded (98 &%= 20 %206 wgfgdios q0bdrgs BIrow.

. A3 sowdrgg Sokbg & wygdo dowg B T Jokg T e:aap’ggo@§oé§ 2, C3
Badog 3 @2;55%50@ 08 1 SESPRSR

(1) T $rEB ddrgrdo aod (2) II - ddrgedo ad0d

(3) I mose II, Bodkor ddreedo aés@@ (4) I'mosell, ok 0D dHdrordo avow
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3. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

VByER® (A) 1 20 Jopgo (DAL Dordd D) wons, et d0om 19 &3
fooagg@o GO% WY,
s~d=o (R) P B8E 20 Jdore Dowgo (Diwo) Hov0o 10.5.

(1) (A) £:605% (R) Bodr s@ddom $T3Fs°€ (A) & (R) ©3BS 58w
(2) (A) %005 (R) Bodr sEdSorm TS 520 (A) & (R) $TD 2680 9%
(3) (A) 536 59 (R) H05°¢
@) (A) %057 50 (R) $THS

4. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
@8 308 HEIT S 08 ©TI (DO Doddy¥o VIY 5% Doherds. © 308
aH)8 ©F JoH 8. 3000 00 wonE, Tok oIS e SHTE ©B (SrFrdhed®)
Do Godwod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

5. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is
(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

2.8 Bg & Momd) Lodsn MHIEWD AD 8. 30,0008 Saeydo. & (o7 edde 20%
o8, BB A 10% S8 odryd. VI 0l Bwngo QNS 2% e
dgre. Hfo b

(1) &=. 9,000 (2) &>. 10,000 (3) &o. 12,000 (4) &>. 15,000

6. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is

(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

2f HHDH, SXrdoddd 10%, &% agardd 15%, Dol agardd 25% ordo
50006, @ HVH) Ve §8 Sr. 1,265 wond, oo Sd5rd P8

(1) . 800 2) . 850 (3) . 900 4) &x. 950
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7. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Todo Jdowgo HEg FSo 1660. 8 Dopg Wy 7.5%, H6°8 Dopg By 12.5%8
(6265"26@3@ & Todkd fooapg@o

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

8. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea
and if there are 40 persons who drink both then the number of people in the group is

w8 DHarEr ot és%@é‘g 72% %008 s°%, 44% H08 & (@ Koz, ©0 %" (28
265_% R, Sl (@ Hoerdy, Todor L@”ﬁ 265§_o°©o 40 %086 ®on8 & DHrdrod®
565§_o°® foospg

(1) 250 (2) 200 (3) 300 (4) 450

9. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other

he loses 15%. Then, the shopkeeper’s gain or loss is
(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

w8 Sosteardody a8 8) TV &r. 20,000 S0 pd Todks TVen &93&&3"&3. w8 TV
©H03 Ed0 ©dI8 15% orgfdn H805» Todd TV & «@d8 15% IR b0 H)36.
OHYPE, © ST E8 HDYS oeFdn TE SLdw

(1) ooesdn 2.25% Q) oo 4%  (3) IpI0 4% (4) Shs» 2.25%

10. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

ud &% mg@va 0& ¥ sroordid (DESE Jo . 16,000 oy 28 TV
HEVm Todd EHow) Fdoo 20% & Shard 10% od® §o 6. g8 » TV Jarer
Bosad8 . 480 P&) @ondd. wdd e TV &r. 15,0008 @8)3%3, SRISERRSIARNY
ol BB D0

(1) 30 (2) 25 (3) 20 4) 15
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11. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the

loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price
of the article should be (in rupees)

2.8 osreacrdady o8 HVoHdo S, 1,4708 @Do&@ SN orgfdoo, oT P 8. 1,0508
©d B HDYS 2601253358 DOVoNIEA HHDowrds. w8I8 & HD @éag/ééw@g 30%
TP s» CTeoE, © HNHEH soddovd W EH) (Sraronodt

(1) 1638 (2) 1600 (3) 1578 4) 1532

12. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %0050 Beo 385000 8. 16,000, Soc. 12,0000 e &8 o a"g@"do (8o owed.
3 Jvo EHhard A, 8. 5.00000 II8) @ag"s"‘lcéo, B =mos® &r. 5,00000 & &
DK, 208 3 Joo EHhard C, 8r. 21,0000 Dy 8 agardos® Joods, o
(oozéésdo SSHard 08 Iwgo . 26,400/-© erf’a‘.fo SEARCTAY

Bod (DIHWSddweo $50880B0d

(@) orerd) A, B, Coo 7:9:6 08308 HowE 358

(b) (B8 orgfo - C 8 orgfo) = oo 3,600/-

(c) A8 &». 16,000/- oreso

DOOPS DIrgrdo

(1) (a), (b) @ H003d (2) (b), (c) @ DO0NID

(3) (a), (¢) ® DOTDID 4) (a), (b), (c) o» @bl ISTeRCSEISIY)

13. A is twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &3 A TgoH @éodsoé‘s D Tl D0 20LEr 0D wf DI
18 &faros® 9ro Sohreds. A a8y S DIV R Dosoro B350

(1) 27 &%een (2) 54 &fween (3) 36 &*ecen (4) 45 &Peen
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14. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B oo a8 93 8. 6,0008 Lro Doomed8 adpEoe . & DAY A )l 6
&terod®ior, B a8y 8 BPerod®d Yro Tohded. C 0580508 28 & DD 3
o’ Gro Vadh. Py’ C By eedo

(1) . 3,000 (2) &x. 2,250 (3) . 750 4) 8. 1,500

15. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Tody 2w a8 50 498 (833E wod srron. sos™) Budd 10 LIS Hhike
Dords 3.2 SSHae 10 éoégef ©8 4.68 0H0d. = JP0HE Joudo Do

303 BOSJ"SGEO Dgooffg 2AdS 30 é;égé*’ Do Horbd dod Gowd?
(1) 6.25 (2) 6.5 3) 7.0 4 7.5

16. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B 508050 C e9do gvoooe)eﬁ”s &) é&sgﬁoes’o a8 0 I, 6,00,000 Sndo AR Yo
ad0d. A Fons®d é&’sgﬁé ad)S Bngo B Frons® & gh8 adyd Inerds 28858
Téw 563805:33 B Jronod®d &&°gA8 adys Bvoe_ﬁ;o C Fond® «¢&gh8 adys Sooedl
Tods T&o. A Q"o&ocﬁ“g 50 %008, B rons® 75 $000, C Fons® 100 H200 & gHe00d
A cg"’ooaé's &263; a¥ a&gn8 a{)QES.zS'Bzéﬁ Qo0& ? |

(1) &x. 1,500 (2) & 3,000 (3) &x. 4,500 4) 8. 6,000
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17. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 oy, (HSrBoB (EHoos® a8 $g8 a8 dow 40 Jares HEVS SH,

5
@30 WADS SrJost r H08y Srdo (HASrBowrdd (dodowrdy. w8 i Do

(1) 9 8d/K0e (2) 6 8%/0e  (3) 10 8Ds/foe  (4) 8 8do/fos

18. A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)
af $g8 S (HXrBoD, ¥ (DT 6 foved® Jdord. & Hg8 «dd Ty
& Hod é@oﬁo&o'&;, OT HHo%od® wesds 5 8 EEND (DABTrBI @ @& SKo
(8a/K0& )

1 24l 34l 4 32
(1 5 (2) 44 () 45 @ 3¢

19. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Bocko E@;fo@ ég@?ﬁé 8%s® 8 IHo& (DASred Do 00, w8 8y Teoo PEH 100
DO 08 © wETID HEEE 10 DEIS® @S, w8 Too TwEy o

(Fo& Eeﬁ%gboéagé”s)
(1) 84 2) 72 (3) 36 4) 32

20. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A $06050 B "fgﬁzc‘g Hogg &rdo 390 8.5, ¥ Beo ?8&1260 A 35§ 10 AM& 65 8.d0/K0
FK08& 0%e0To VhS B 3H (dX5rs000. $6°8 Teo Rad B 54 11 AMS
35 8o/do BH0E  CHenTO DaD A Y (HBrBED00. 9 ordodHT Dok

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM
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21.

The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

w8 8fwd® HROrSostd Kovwe %00%m Jdre Eéoo@gfo@ w8 DT Tast, és@éé’
&%t D) JEo wodrron

(1) 20 (2) 22 (3) 24 (4) 44

22.

A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?

w8 B8 f&osrSo (D8 Troody dDareodH 5 DEL oo JSED0d. oI
e&0%0 8 dovwodH HOTH o3 & oo@ 9 HovodHh ©d Wre B Jod?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

23.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
o0 o) DH0 e wdTIO
(1) FFHoado (2) ogao (3) #HEado (4) #da>o

24.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

a8 Fgardod® X $005» Yoo 2 : 3 308 oo & wyrdh. Sndo orgod® 10%,
a8 PETH JorFomr a)I SShard XE . 900 wrgfo SDNod. P Y8 51D
oo

(1) . 1,600 (2) &o. 2,500 (3) & 2,250 (4) &o. 1,350

25.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

ore Hod s msgoe wﬁ@*s:ﬁogoeﬁ“‘ Bngo & 60,000 Dy Do oo D & DY
HDYS orgrd) DIrSom HorHToe H0H TS Do DE B NG oo
Doddyorv8 10% Eé((% 80, drgardo S&PoVI0dE JodHh S 150 @fooéa%é:égom
2DoB0 B HTE. TR o0 & R0 o0 3S°T DHo ad)QowE, Fgrdod’
SO Dwgo JodE 8 orgfo Jod?

(1) &~. 10,800 (2) &o. 8,400 (3) &o. 14,200 (4) . 12,600
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26. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take © = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i1) 924
(¢) Volume of the cylinder (iii) 154

(d) Curved surface area of the cylinder (iv) 308

gNBTH DEred® agddo T d5rdes, 8y 6 Brde 0¥ & (808 &G
2EHIW0S (HTD Bordwn 88od, m=22/7 ©d &%8°0d).

(a) $yg JTrogdw (1) 264
(b)) $0%HD HodH8Irerdw (i1) 924
(€) DorDdn PIDOIIe b (i) 154
() ordo BESo Brogo (iv) 308

(a) (b) (c) (d)
(H ay G @) @0
2 G Gv) (D) )
) Gv) () () )
4) (i) @ (v (i)

27. Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod o8I =g B0%08

de—I erde—II
(a) &6¢ Hodo (i) WSS (Do
(b) Hodo (i) $ygo
(c) A*Fd» (ii1) (Baezdo
(d) 0% (iv) &gS&8d0

(a) (b) (©) (d)
O Gy G ()
@ Gy (i) (i)
3 G @H Gy ()
4 Gy G @ 3v)
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28. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is

a¥ BESESBo T, FEHIo 4 cm SHod Bdwyd 3 om HoDE DEY&D
BEE(D 3Tog0, BIISHED ITogo8 JVETrIHPNB08. oRE SFTSE(DY ok
Fod Do.dos® A

(1) 46 (2) 48 (3) 50 4) 52

29. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?

% af SEPY) TH Todo v grmream 800w, 80A af Vi grmrd) BHrS
PP &) W) dNE oo EBJowrEd. (D8 WVI) &) W) Ko 20 (. «E&
$S Bogo 7 TEH SnE) e $0T, wdds 80008 BudE TH  &HY (.o Jod?

(1) 140 (2) 160 (3) 210 (4) 240

30. Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 0.0 $26050 4.3 0.9 &y, 257 &) A8 2.1 =200.90 gragdrdo 00 &)
Tods ST FoHHods E0A0D af F¥om HOTH. © FEY TgHdN Wo.Ned®

(1) 4.2 (2) 4.5 (3) 4.8 4 5

31. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Dopgd 2 ©8 D) Dompgd EOVIS DMy Dowg 19 JE IdFyn oo
A oS Bodo?

(1) 14 2) 5 3) 1 4) 3

32. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take T = 22/7)

¥ &g (S® 30 60 200.99, 35 00.00 H00050 22 0.0 c%:é‘l §o€6£633§5 §’°5°Se§_%®o
Boﬁrsmc‘éoé"’c‘él&, 7 200.000 wsfoéoo 390030 4 00.000 0)@5_3058 &S O3B0 Boﬁog(ﬁ@ﬁé
P>y EFgEe Doy (T = 22/7ed 8808 )

(1) 75 (2) 150 (3) 300 (4) 400
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33.

Find the greatest of the following numbers
& (800 Dopgod® ©d DY Dompg EHoA"KIH»

V53, N7 =5, o -7, V1149
(D) J5-43 2) J7-45 3) J11-+9 @ Jo-7

34.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 fower 2BIO (Brddo Bodoo DYrow. S fobwo HEDm 6, 5, 7, 10 H0050
12 80g 50 (Brihd. BndEr0 (Bridd BEH) neHore %08, ¥ do
DHo0%0st @ e—sb‘l AT OV (Jrodo?

() 7 2) 8 3) 9 4) 10

3s.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, 5@?’0@ 508 40 O&d oI008 I8 5%. 8 Lo 10% @ﬁoggo 208°Qy
b@;fo@ &3 Dot‘éo“)rg)g Eodrwo®, Lordod 8 Hodrmo (g)cbg@%)

1 1 2 1
() Sy @ 33 3 2y ) 6

36.

The number of integers which are not perfect squares between 162 and 177 is
167 %0050 177 S0y HO%rg $¢dne 0 Grgoso bowg
(1) 32 (2) 33 (3) 34 (4) 28

37.

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600
§°0¢ {3"’2633&33 o8 10% IHpd Todko DodEyorodH 75L§Eéc§ H00050 S
$do Hoge Fdo 8. 631 © Bwdo ooy

(1) &o=. 63,000 (2) . 63,100 (3) d&o. 63,500 (4) &o. 63,600

38.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2% years (4) 3 years

wdeo . 80,000/- oD I8 10% zsgzsczg Ten&® . 16,800 25%‘% ST af
rgoHS® $0DE & wHwDH WrgoHd® $odS DN

(1) 1% dod&yoren (2) 2 Joddyoreoo (3) 2% DodEyoron (4) 3 DodEyored
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39. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is
w8 Hg & . 50,0008 8% Jrgrde :;66293 2 JodEyoro8 Somonr ywr )k H20050
$:6° 8. 50,0000 ©T Twod yoodd SEIRE 2 Dodyorod awe)do. ToBY)
$STE ©dI8 80N V) Ivd® Flo
(1) 300 (2) 320 (3) 360 (4) 380

40. Match the following

A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(1) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

Bod A0 =uBDIL0d
§0d PI0yd gl é%% OPYHIR OB, & Jugo TEoY wd@ 8

éé FS0 S0P Dowg
() 16%% (a) 12V
(i) 20% () 6
(i) 8% © 5

(1) (i) (i)
(M (@ (b) (c)
2  (© (b) (a)
3 (@ (c) (b)
@ (0 (c) (a)

41. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 ergo 10% 28¢ 38 Seror 80308, 576 8% $88 dhmo Sords. Jorde
S0°g, WrgoHH & omom BTy B, . 40,00,000 D 10% 88 ST DugoH
2 By Bodod HIr6%H Soege)  Ho0eeTEd B8, 306 @K)os’oé‘l Soea D00 ?
®30%5 $& Twws (vfo rardhos)

(1) 100 (2) 90 (3) 200 (4) 180
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42. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jeod 162/3% THPS 3 DodgyoroH §od @“éoo%zo zSLéécge Soe. 12,700 e00d8.
YA o0 2 ©0S8 X)c% Te&®, 908 HLBTIE ol éc§

(1) . 9,600 (2) 8». 10,800  (3) . 12,000  (4) . 10,200

43. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648
a8 Bngo P % 8% $& Trd® af HodEyord8 SN S(EDQ 8. 600. ©T Bodo
P % o3 Tew& 2 Jo58 0008 5Ty S804

(1) . 1,248 (2) . 1,428 (3) . 1,644 4) S». 1,648

44. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is

3 Jodgyore (80 ordw, e S0 Qa8 4 : 3, Todk voddyore S
©d 5 4 oPHood. 0 (DNE J0Sve JwEo
(1) 41 (2) 43 (3) 45 (4) 48

45. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is

Qardy F(Eo PIVOIrero AR 3 1 4 1 5 & rEod Tod HOaw Qe
W(FH008 Jords. & ;(E0S'Y Jroo, De3 VR oo v 4 11, 3 1 1 Sodds»
51 2. & doedko @Lé@eﬁ)sio W(FHrod Troadd @1’@@3{’ FIFLo. P d @Lé@b FoAloM
$00050 J¢ SRS

(1) 4:1 (2) 151 :48 (3) 157 :53 4) 5:3

46. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is

Hoards Dopgo HoTre Bwdo 1728 oThgbdom wd) Dopge 08 3145 wond
éoqﬁs :“ooaps BVE) P3DN
(1) 216 ) 512 3) 256 4) 128
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47. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 argard VoY TWnEy Jdgd Deo rfom Pom, ;LM JITIrA0VS Jdgd
FBordedo & Irddr wowwod. ¥ Tos® 540 G300°dd AV TWrrIE BV Do
8. 1,800. $58°8 Jo&® 620 05ordy IITWrmed8 HV)S Do 8. 2,040. o8 Jod®
500 050Q¢0 AITIrACDIYE HT ) De5gE Do
(1) &. 1,560 (2) . 1,600 (3) &~. 1,620 (4) . 1,680

48. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 K8 DATFY 28 Addo 10 SPerod® goiod. 208 TFow FHoggo @dy
DA oy wwdod 3 Fdod 5 fwrod® £4@d8 JosdH sod?
(1) 36 (2) 18 (3) 20 4) 16

49. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
ud S3K8S® 100 H20 Dms%ﬁoe)o &) 8. wrend fooaos rd¥e fooz;gs 08 10
D& D. el vk $o 50 & (T SEESSTD Qargdooodd vAwy G 45.5 8.
@80 Dty HH B (Tros®)

(1) 40 (2) 45 (3) 50 (4) 52

50. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) II alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 &ood do &%33@3%, 11 oo e:sésm@f@ Db DA% 28 DodEyoren. whd JdEE
Soso o ?
L 23%)0@5%3 ©8 VI H0H do wbmrd 0T rcsaicsy 11 dodEyorer .
I[I. Sc%0%%o5E, PADS DO Hood e:scbm@;f@ dfen HA%d 27.3 DoHEyore.
2T DHrgrdo 20w 0d
(H1 a,ézr'éﬁ 0B Vdrerdo aod, [T adgds (2) 10 aJs’ZrE)g DB DArerdo adod, [ ’dgds
B) I &I Todr Ddrarards wddEDo 4) LIl Bodr &1z, Hdrgedo aésé@
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Read the following data and answer Questions 51, 52, and 53 :
Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddn doa 51, 52, 53 (BH)oh a2a7dIges :
Sngo 35 Hod S)w"ggo@é”s 16 H008 (oW, 16 H00d Dody yBHn H38d%» 11 Hod
Boory YT B80T 8. 5 M8y (oW H0WBw SBewoiy Todr SSro, 208°
dody Doy yEo Erae S IaFISHY ©3HoLT 8. 5 b Seoid éJ"’LéTGSO I aTVIIP)
z;°3)'f9°, 8 Hood Dody ydo 2;63”@530 IS STV RNESISTP RN Tor B

51. Match the following :

List-I List-II
(Choice of Languages) (No. of Students)

(a) Only French and Sanskrit (i 2

(b) All French, Sanskrit and Telugu @i1) 1

(c) Only French and Telugu (ii1) 4

(d) Only Sanskrit and Telugu (iv) 3

Bod &8 =SEHEWos

eI eI
(FPRY A Ew) (Rargdow Bowg)

(a) (oD Ho0dB» Dodyydo ;S (1) 2‘

(b) (oD, Dodpydo H0Bn B @fb‘l (i) 1

(C) (%oD Ho0TBH Voot Hoo(EHo (iii) 4

(d) D0dy yBo H0b» Seodd So°(&$ o (iv) 3

@ B (© @
() @iy Gv) @O ()
(2) i) @O () (Gv)
() Gv) @) () (@)
4 ) @O @) (Gv)
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52. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
(Bo& ad)d (DdVTres® & H05°E?
(a) 10 Ho06 bwggoeo 3 rheos® £D%o Todoidar) WhFrodEoboar) 8
(b) 5 > dargdows Bk rhes® J& e SSrodisiido S
(c) 4 %8 Dwsgom Qardy e WRQT HIDILI0LT) 8
(d) 7 &0 Z)mggomo (oD Jor(&EFHo DISEACREE TSI R eN
(1) (a) (2) (b) (3) (o 4 (d

53. Read the following statements :
(a) 30 students want to study at least one of the three languages
(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is
(1) (a) is correct but (b) and (c) are wrong
(2) (a), (b) and (c) all are correct
(3) (a) and (b) are correct but (c) is wrong
(4) (a) and (c) are correct but (b) is wrong
Bod (DIdVrod LdHod
(a) 30 X000 S)wsgow Loy prhodt €J%o 28 U 3" FET 0800078
(b) 20 %008 dorgdher HrGoBS® &I SrEHo ISToIEHoLT S
() agd SDWSCC;J@Q .(“oo?ozrgéo 520030 Bwotf ToRoB Hr (S FET00E 00T 8
DOOBPS DIrgrd b0
(1) (a) $3BIT 520 (b) 0w (c) HVOSD
(2) (a), (b) K000 (c) Hards DTS
(3) (a) 00605 (b) HTIT 52 (c) DL
(4) (a) H50B0 (c) HBIJ 570 (b) Do
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The number in the figures in Questions 54, 55 follow a pattern. Find the number in
the place marked (?).

Bod adyd 54, 55 HH o dedoes® Sopgeo a8 2288 aaryon. (2) DES SPe STy
&oa;g §263§'52roc%.

3113 7|58 5141 7189
4. 1H s 3 | 40 419 5139
(H 9 2 8 3) 7 4) 6
418 6|12 12 | 36 72120
55. 1212 2] 3 3|4 205
(1) 16 2) 8 (3) 10 4) 2
56. A silver cuboid of dimensions 5.5 cms X 5 ¢cm x 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

5.5cms x 5cm x 4.2 cms Fodes fo a8 Tod &Y Hoa°d) 800D 1.75 cms agdo0
$:005» 4mm  $0d85» o T TBed SArH V. wdypd Fod oo
3008 SArTY FBO bopg (1 =22/7 & 8%o8%0R)

(1) 120 (2) 80 (3) 60 4) 12

57.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

bY SSGrsE0S” &) o Podn T Bdoo), JEf 4 1 5 J0HES® Ko,

¥ Podo VE) Jdooy &P o) 20 m S Ho L%GSDJSS, @ Fodn BVNE) Koo
Fod d.od

(1) 240 2) 300 (3) 360 (4) 540

58.

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 58, 59 and 60.

Bod adyd dedoed® Sopgws ¥ ERoBE8S® e 0w, €8 SRFT R0 SHT/IA0D, (HF oo
58, 59, 60os® (?) L e éx_ﬁa Sopgde §260§’52roc%.

1 3 4
e @ G
8 8 5
4

6 3

2
(1) 26 2) 28 (3) 30 4) 32
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59, @
o
5
() 3 (2) 4 3) 5 4) 6
60. 12
% @ 12
@
3 1
(1) 2 @ 5 3 5 ) 1

61. Consider the following statements
(a) Any two similar figures are equal
(b) Two circles with radii 4 cm and 5 cms are similar
(c) A square and a rhombus are similar
(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms
Which of the above statement/s is/are correct ?
(1) (a) and (c) (2) (b) and (d)
(3) (a), (b) and (c) (4) (a) only
S (800 (DdVorolo H08D0F0d
(a) @ Tok VErH DEPBIT DIrI0M GoLrTow
(b) 4 =vo.o mg@“géw $00050 5 0.000 5"53“(@52603 do Todk dysreonr Do
(€) FSF(DdHore, DB BB NEHN DI
(d) 3 oo hHaedn do Xl)éoar’ﬁwo (Bghedn, 4 oo ghadn do vHoerdeo
(8808 JErHDw
D (5SSt dO/AD $TI6?
(1) (a) 200050 (c) (2) (b) H0008» (d)
(3) (a), (b) 200350 (c) (4) (a) 28, @
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62. Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i) First Indian Satellite

(c) Bhaskara (iii)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

(Bod a8 =dErdyod

(a) HoroStaD (1) oo

(b) 3Jad occdrdond (i) BodE g &dHAT°0

(€) o948 (iil) Dogrg F7Q 952

(d) edgae (Iv) od0hs FBRES adPwrgd

@ (b () (@
() @Gv) G @O ()
(2) ()  @v) @) ()
() (i) @) () ()
4 O @) ) o (Gv)

16 .
(x+16)2 > If
(i) x=#-16, and (i) x> + 32x = 320

63. What is the value of

16
(i) x # —16, $2805» (ii) x> + 32x = 320 @o»S (x116) Do Dod7

) 36 2) — 3 P
M @ 57 ®) 30 @ 35

64. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

¥ 8g SEHIPY JFogo 60 SEEH Bardew. o) PED, Ihojody HEHde
6 OSJJ‘;ZDQJ D00 050 2 SBardéw é{j“fgo ©0 a8 FLI(DNHE08. D PR & BSG(DY
BToghn (S8R 5rdes®

(1) 4 2) 9 (3) 16 (4) 36
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(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth

65. Consider the following statements

(b) The shortest shadow of an object occurs at local noon

(c) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)

(3) (a), (b) and (c) (4) Only (b)

Bod av)d (BTl H0800S0d

(a) esdost drdogdy Dod &I G0®, Frdod af 3D & wod V3o
ool

(b) 28 0D 98 D) Vd o (FodY NG HHgrgdr oS HE08
(€) dradg ddy Drdgds, Wo(Baky Forabd BWEE IPS wowrdd
25 adys (BISTeS DB/0D $THI?

(1) (a) S28050 (b) (2) (a) $2805» (c)

(3) (a), (b) H28050 (c) 4) (b) 28T

66. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) H2805» (0,3)en %9:@3(\"’ 6J)  Troghe BTogo (V8D 6533120@@5%)
(1) 11 2) 14 3) 22 (4) 30

67. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)

g DGR Mwrdo “g?éo:“_@ CISENE) IR INRY sseSoe® &), :“g:"ﬁ)o V) FPgOdW
8 Do. P Ho0& FoHd) %go Vg 28y 15 . H8 05w Qrdo D&y 12 Q. Boudo
Homoed) D POEH ©HVEHTHY oS BWwE) BTogo (5.50.06%

(1) 144 2) 116 n 3) 9% n (4) 64mn
68. The next term of the sequence 1, 3, 4, 8, 15, 27, is

1, 3, 4, 8, 15, 27, ©H(EH0S*D SH8 bowg

(1) 37 (2) 44 3) 50 (4) 55
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69.

Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

8025005080 @265"&003@0 et §%%o o O Erdoar)8. o788 J&D (DEH D, Dodod
HA (985 Do w0d. oreF8 KB (D0 Fod wod. oref8 Tobs HGgd ber oo,
T BoggS®t @ B B2

(1) o3 (2) 396 (3) ber (4) Dok

70.

Fill in the blank :
e°dd Yrdotod
CG:HL::KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 71—76, pick the odd number out (does not match).
71-76 %88 (%)os® S0 Sopgd dogodadw.

71. (1) 282 (2) 364 (3) 4168 (4) 6248
72. (1) 1285 (2) 2213 (3) 3074 (4) 4172
73. (1) 1339 (2) 2665 (3) 3991 (4) 4223
74. (1) 11 (2) 246 (3) 327 (4) 464
75. (1) 5 2) 12 (3) 25 4) 36

76. (1) 81 (2) 441 (3) 529 4) 613

In each of the Questions 77 to 82, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

77 %208 82 $8& o ($8 (BH)S* 90 adyd Dopges af (ko SFoD VAR FET°)0%.
(B8 (%S0 &) PO el VS TIE Foko Ludom adyd Trwai PRYTL H0d
HOTRS war 98° HrooNod. |

77. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 3) 126 4) 152
78. 7,6, 11, 13, 15, 20, 19, 27, 23, .

(1) 27 (2) 34 (3) 36 4) 37
79. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
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80. 21, , 55, 78, 105, 136.

(1) 36 ) 38 (3) 42 (4) 45
81. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
82. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

83.

In the Questions 83 to 87, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

83 [00& 87 H8H ad)d @:r‘éle:é's w0 @Forwo 0w o 0o K:oapg@o 1 %008 26
DOE, af [E0 $Fod ANV ;EIRT 0. (08 B%)S® @) R, wBoERe Jo5dT8
Foddw fodHom, al)d Jroady PP od JOTPY = o8& Yrootod.

If VEDA’s birthday is on 22-5-41, the;n RAGA’s birthday is on

VEDA Hgsd & 22-5-41 wowd. RAGA HES e

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61

84.

If AZEV : FUIQ, then BYFU :

AZEV : FUJQ woxd, edyd> BYFU : i
(1) GKTP (2) GTKP (3) GTPK 4) PTKG

85.

If AKBAR : 15, then ANWAR :
AKBAR : 15 wond, edypds ANWAR : .
(1) 11 2) 19 (3) 17 4) 21

86.

If ICET : 73, then HBDP :
ICET : 73 wons, e—sﬁagocéo HBDP : .
(1) 64 (2) 34 (3) 48 4) 54

87.

If FACT : 54, then TAKE : .
FACT : 54 woxns, @Xatyéo TAKE : .
(1) 35 (2) 46 (3) 68 4) 82

IS 2016 B 21 G



88.

In questions 88—92.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY”’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1) If no match is found use X

(i11) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ oo 88 Jo0& 92 H8%.

o8 §&8° ‘SAINT’ o3 HSo 82147 mdo, ‘MONKEY’ o3 Hdo 364950 mdo §°6&

Do 33 fod add AdSwN wgrdomr THED add ool &8 [3°d0d :

(i) o 8633 VIS 0 0B, & 07 D 9 o Irdyod

(i) 0036 26 BEFE X 5608
(i) SnEE ©@0E 0 wond od FI0S 1 dod

(Iv) B0c5e3 Ho005» DVHd woBew, oo sE 2 5% ST DI d0 wowd Dopged
YoNs, IS o3 §E&D 20 Sr8yod

The code for the word INMATES is

INMATES o3 $do T30y, §%&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578

89.

The code for the word YESTERDAY is
YESTERDAY o3 $Hdo [SSEEE §°&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

90.

The code for the word STALKINGS is
STALKINGS o3 $do awg& §&
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

91.

The code for the word MONASTERY is
MONASTERY o3 %do aeo§2r &
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

92.

The code for the word ASTEROIDS is
ASTEROIDS o3 $do T30y, §5&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8
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93. A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is
(1) 4 hours 20 minutes (2) 4 hours 30 minutes
(3) 4 hours 40 minutes (4) 4 hours 50 minutes
a8 Brerd 528 70 8o/o B0 [odB (98 Tods Howedr 10 8J/fo Sordy
0WoK0e008. & K% 360 8.2 Bror) (DASredot w8 Zﬂé DdoAs0
(1) 4 Koo 20 JJoreo (2) 4 Koo 30 Joroo
(3) 4 Kovo 40 Joareo (4) 4 Koveo 50 Jdoareo

94. AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is
AB 2.8 H3¥ Ty, a8 S A H008 00T &g gdnpomr 28 4 =00.2000 69,
éo@@ HEBY § 8z VIroLSomr 3 Do.deo 6O aﬁo@@ 8§ g o 2 200.2000
60, 808 %&3Y §8z VIroddomr 2 o.dben 6O DISm (8ob8 e bwwonr
$8&0 BY Jsos. SRS bda%é DO BToFH0 (VEITY 20.00s®)

(1) 24 (2) 26 (3) 30 (4) 144

95. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)
w8 $g 8 Srardg a¥d 40 . BrEHn I&D, b AEDo I 90° 86A 40 Qo SrSHw
S0, DK S OIS 4042 Do, SrEdw Q&% S&E (PEoPowd Dodow),
S8E Yro Bd DodHo DGy drdanm (.o

() 0 (2) 60 3) 60v2 (4) 8042

96. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)
2¥ $g8 (808 adyd %S S
(i) 85080y 64S® 60 Q.3 (i) SSood S8 OIS 80 o.; (iii) w2 DEDHS BFS® 120 Do
(iv) 8&050 &8 a4s® 30 Q. H05w (V) wdoddo S8 84s® 60 o. Seboarcso.
©E5 SEE (FE0PoDS Ho%H), SEE Yro VB DodHo Hogy Srddw (.07
(1) 30 (2) 50 (3) 60 (4) 120
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97. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)
¥ Eégé B8 &%s® 250 o. S&oecbo, DYk wEY &4s® 50 .. S Boe .
OO P& DEDS 84S® 300 Do. J%o;%d. wED $EE (rFoHoDS Do), J&E Wro
TS DodHe Hgy SrEdn (W.od)

(1) 30 (2) 6042 (3) 10072 4) 5042

98. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m
Er8o)sH wdlopomr wd) Hg8 Srdoy oLy 30 ﬁbéogo S&orE Sfwo IV
40 oo HED D DENE Y 60 D03 SETEr. 0SS Do) Ho0d wdBoH
Er8os® sy (.08
(1) 50 (2) 60 (3) 70 (4) 130

99. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @260@’2600@5‘3 S*PoRD fooaogzéo SPSTORRNRRVEY)
(1) 35 (2) 38 3) 39 (4) 40

100. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 (B0 Sdhard Hdo ézsoé’szroé‘g
(1) 96542 (2) 65423 (3) 96543 (4) 65234

101. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Iy Lo DO dWES?

(1) (8 Igscolo Ddgdoiﬁocb (2) (EHgo oy
() (8o dog (4) >¥FBIAS

102. Which one of the following is not correctly matched ?
(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra
(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia
St (300 2o’ IO OIS 5°%

(1) oS B, — 2038 (2) deDS B, — Dy
(3) VoWS B, — «¥d Hodhotdo 4) DS Blz—_“oaégj’ooﬁo5 EET 3
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103. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(c) Western Himalayas are biodiversity ‘hotspots’.

(1) (a)is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (DYool wEgohdo Bohod

(a) edEwos’d Joyb BeF )& (80,) H0dkn FE&'as Be3 )& (NO) mdstd
N8 wmHos IEg TodIYd ‘wdy g EEI0mn.

(b) odgod &rdone &07 derdden &Y 6;56’5&?090535

(c) 9B)% Wrdrodirer LDJISg WEXHE @

(1) (a) 20030586 520 (b) H00dbw (€) DOl 57

(2) (a) $50080 (c) D000dD 520 (b) HOTNIE sk

(3) (b) £9005» (c) LOTPIV 57 (a) LOTPIE s°h

(4) (a), (b), (c) ®@J) LTI

104. Match the following

List-1 List-IT

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (i1) Global warming

(c) Freons (iii)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 T8 wSEDNTWos

eI -1l

@) TS (i) =5-5 2085

(b) Foydes (i) 6° & 0304

(c) (PIFBrSe (iii) Sy & Hooed (bloom) dEyE&o
(d) &TEes (iv) &S 2o(&&0

(V) 4%8 gdodo

The correct answer is
DOOND ddrerdo

(@ (b () ()
() @Gv) @) (v) (D)
(2) @) (@) () @
(3) @) (@) (v) (@1v)
@ (v @) @) @
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105. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&Yrb, Jorard HdBL Dod DO ©gdirdargodn EONANI) TralIo DO (Send
(1) 538, oo, HoFtoRy (2) Eoro¥, HGg(HTF, SIS
3) éo@ﬁs@aag, HFPorR 9, ST d (4) ZovE, oFtyo, 5055@35

106. Identify the correct statements
(a) Magnetic force does ‘no work’.
(b) Electrostatic charges generate magnetic field.
(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS DdTwen HHdotbod

(a) ©dhd)od odn DITSE

(b) %9 DSgrrBIdne Hob wdhTpod F (Edo &S38 ol

() ©0d)od © Tapwr DITroSEHd ©F)od F ($Hn 2E868S° sodkads.
(d) 2568 wohdpod F(Es» Jdgse 0.

(1 (@), () (2) (@), (c), (d) 3) (a), (), (c) 4 (), ()

107. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?
(1) Sound (2) Heat (3) Electrical (4) Magnetic
& (80O Q F°8E QSU“&EO;, Ldégéso@eﬁ's o Sarod 6)@&02‘503 WATEE DD §263§’°2)_70§
(DT d0s® SrdEedy?

(1) $g (2) &b (3) 5og& (4) odsdryod

108. Identify the correct statements

(a) Sound waves and ultrasonic waves are longitudinal mechanical waves.

(b) Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

(c) Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

(d) Electromagnetic waves are transverse waves.

(1) (a), (b) only (2) (a),(b),(c)only (3) (a),(d)only  (4) (a)only

DTS AdTwen HHdotod

(a) $g0 SSomrod HOWBn W&FID SFomrer I3 gg 050 (B8 oo,

(b) &g SSomed ©HB gs OBro(88 Sdomer O V&g By 0d ESomes
85g8S Bro(@¥ dJomen.

() &30 SSomrer w3 gg FBro(@8 Fomer N0 @8 FgV SSomer 888
oo (88 oo,

(d) dSogdcsodrpod domes 8¢5 LSomeo.

) @ bB)3=ED Q) @.0).QrED () @), () EFED @) (@) srEd
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109. Match the following :

List-I List-11
(a) Mercury thermometer (i) —200°Cto 1600 °C
(b) Platinum Resistance thermometer (i) —200 °C to 500 °C
(c) Thermocouple thermometer (ii1) =200 °C to 1200 °C

(d) Constant Volume Hydrogen gas thermometer (iv) —30°Cto 350 °C
Bod T8I 2BDSL0b :

-1 eIl
(a) 8oy g0 waf(HE HrHEH (1) —200°C %00& 1600 °C 8%
(b) FES50 IE°EE &S HrHEDw (i1)) —200 °C o0& 500 °C S8
(€) wQ FBniyHn e HE SrHEB» (ii1) — 200 °C o0& 1200 °C $8%
(d) i’gd Po3H0Irn T (BeS @raind) (iv) —30°C %00& 350 °C $8%

A S SrDHED0

@ b (© @
(H @ G (Gv) (i)
2) G @) Gv) @)
@) @) Gv) () @)
(4) (v) (@) (@ (D)

110. Metal ion present in Vitamin B , is
DeWS B, o & 0dsrd

(1) Fe* 2) Cr* (3) Co* 4) Mg*

111. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

("8 woEH0m &) PO 2ddFo I Do &) (880D HBros® é@?o@ oo
®
QB 58 580

(D 05%35 2) g-® (3) 3= s3 6o (4) DB
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112. Which one of the following is a polyester fibre ?

(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod TES® >OTHE Fh 0?2
(1) BEBE (2) O3 (3) So°e-6.6 (4) B8O

113. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod &&S® DOOHD Vw0 570 B hooWok.

(a) @88 w0 a8 BroBnPs

(b) 5§60 NIsS ¥ ol TrE§

(c) %ETE a8 Bro8B(E*H%S

(d) 9D a8 (Gro8g B=d

(1) (@), (b), (d) 2) (@),(c),(d) (3) (@), (), (c) 4 (b), (c), (d)

114. Read the following statements

(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.

(c) Programmed cell death is known as ‘apoptosis’.

(1) (a) and (b) are correct (2) (b) and (c) are correct

(3) Only (a) correct (4) All(a), (b), (c) are correct
& (800 (DdVTrod wEgohdo Bohod

(2) HErod® HoFusHThy 528" ) e (@he ToE) add rmod Ty o Fa0sdn0
Bodozon

(b) DIsdboBr=s DNA o P05 DNA o Ere woirdd

() (Pe¥s> Fom Swreo WIFSE) ‘oDSVDT woerdd

(1) (a) %0050 (b) $0THD (2) (b) £0005» (€) DO THD
(3) (a) @ HOTIG 4) (a), (b), (c) ®) H0THIY
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115. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood
(4) Adrenal medullary hormones increase the B.P. and heart beat
PR(@ DO S0 0§oD & (800 (DITVT o ©Edgdhdo TR HOsD A 800
(1) QEIS (fod DI Vgrar)y, AEES 6°900
(2) dEddo S0 JoPPDT SENSRTSS
(3) &derddo So 8os® ‘CO’ Hodrmo 0h 0, dodormo Sodo
(4) @S SHgde & ydowo 8 DETD), H0B FLET Ird) Dowsron

116. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (i1) Adilabad
(c) Lower Manair Dam (iii) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
228 DTS00

el eI
(a) ocefen o B9 0D DPLo (i) %603%46
(b) $oro 06 @ (i) wooers
(c) &°c%6 $36 wreo (ili) Ho&> 75HHE
(d) Qo dzorgaib (iv) derdrerd

(a) (b) (c) (d)
(@ (i) (i) (iv)
2 G Gy @) (i)
G Gv) G (D) )
4 G (Gv) (D) )
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117. Consider the following

(i) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009
(iii) Right to Education Act assured free and compulsory education to the children between

years 6-14
Which of the statements given above is/are correct ?
(1) (1) and (i1) (2) (1) and (ii1) (3) (1) and (iii) (4) (1), (1) and (iii)

(Bod arsego HOROOWI®

(1) Qdarg &) Fho A8gd (FENE T Eym (HESoV0d

(i) dorg %) $&o 2009 LoHENEINS® sBrdoT 8

(iii) 6-14 S0dEYyrod® &Y DLL0E08 DY B0 DB yod Sy aargod darg
&y WHo (DEBoV0H

D 5ot d8/9D HTID

(1) () $o605» (i) () (i) $60% (i)

(3) (i) ©005» (iii) @) (i), (i) so60s0 (iii)

118. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) S5years (3) 6years (4) 7years
QBBABSwen eES FEDEg0 §°EH Sy THbww® H0ok rdSETIos® A, DoHE B H0e
AXV0WV Go%SSL.
(1) 3 Jod&yore (2) 5 Jod&yoren (3) 6 VodSyoren (4) T DodEyoren

119. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘B VYO V08B JEoHeH ) 0°R90 w(dds Wl VLol (HTIWLod. T (derD

g go Qe ?

(1) &g (9T  : o Dood §o%es &r. 200 §°9H Seronodod

(2) o83 B35 1 el oo Qo0, oY) VHErE YKo

(3) oc=IS ol Dood IEEom IEW DOEIE 65 (Dghdg sod(dos®
(HEg8om Do 0% &J oo Jovydn

(4) Srorgs Do) (HghEg ed$ed® (HBgEom D030 &Y oo Joywo
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120. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India
(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

B8 Do 0§ & o ©TE #°G (IPAB) vy (95780 BF )& Todd 2TWRAPES
208808y 08%9 (GIR) el D0y w98 DAgoH BB;(ADES K08 TAS oo
$00%) B»ED D00, & Jn(@ PEETIoSTY T orargedy 99000

8od a8 D& deo

(a) & Ao orar9e HTPH0 HOFTITE (Fodod Lo

(b) & Ao orarges WHTrOBTrY Fore Bod Sod)

(c) & ko T°grg @0 3B TF0SD %éd—éﬁ?égoeﬁﬁ ok

(d) & e orargeo & e oSS TFoS® Lo

(1) (a) $(&> 2) (b) sm$Fo () (a) 50050 (d) (4) (a) $9605» (c)

121. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RE 2508 ©h R0BIT PrigH) W

(1) D&% ergof ©d z0&dsr (2) mo%B0S ergof ©f z0&dr
(3) »EES wrgof ©d moddsr (4) &% modair errgos

122. NITI Ayog stands for

(1) National Institute for Technical Investigation
(2) National Income Transfer to Individuals
(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI oGrf 829 BrDh08

(1) 3085 as Bergd $6 BEIES adIJNAS
(2) SIS asEd (PS)HE W w08VBrgH )

() LSS asyBergd $6 (&rS3)0308 aoddsr
(4) KIS a00dBS) B9Voh adySergd
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123. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
DEYS (o HEI) Edo (8od FES® TI8 Do 050VHE
(1) edHo 298 (2) Do A0S
(3) (oo FoHEg0 (4 (Tom ISgHES

124. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& a&¢® BIMARU orh90 5200
(1) H5386 (2) &g (535 (3) v P BWorrs  (4) O"’&%%"’S

125. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

wdgdH Dowd (fogodH ady Do a 5B v 2016 HoHSNEHNSEH 508
©doDod? & PHEo HT.

(1) $2& Grerd — & 3§ Grgod : & BEO BAD b 80805r 1A
(2) &°6°S BS) — & ©5 Bo&)y

(3) Shed IrPIoHS —  Q Irg T oD & 6 oD & w8

(4) oD I, — ) vo& Bryoe ad Mowd

126. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D08 IDI, wdo Cé@zé Ferd8en Hord o & (8od dFomr Denrdd
(1) & dS° (2) 038 3) éS’Sc‘Sgﬁs (4) ooy EST-PPes
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127. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is

(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)

& (300 T5god® B/AD EHYP?

(a) Bogse éoﬁég (D@50 sPod0 — 1951-1956

(b) Sorsd K)Ozﬁég (D@50 stodn — 1966-1971

(c) &85 ‘éoéég (D@5 sPod0 — 1980-1985

(d) &S éoﬁéé (D@50 sPod0 — 2002-2007

5BH HEFEHED

(1) (a) 9805 (c) Q) b srED () (s @D (@) (a) 2005 (d)

128. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©08 0D FIrEE (HerPs WS TW Q DS PoBDBS TS
(1) So&8 erder () ogy =de

(3) &dé =rder (4) 0339 visore

129. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal
PEETH0S” S rargod DodouEod® BIHY (X0 (AhD »Hok) HokoT oo
$BoBok
(1) sSSHTF. Doard H0B» HFgHT3
(2) SSDTT, 2606556335 H0T5n DRy Bomrd
(3) Howrd, ¢SIHTT HOWBH Swomrn
(4) $6g(HTF, Doerd HOB» DR YHTomrd

130. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15
B0 wBgHDY 5828 DHoDD 008" Trergofos’d Q) wRESH SNob Tohwedd
QenB&s
(1) ©§8d 32 (2) »§8s 21 (3) »§5d5 19 (4) ©98d 15
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131. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills

in 1919
(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) G.S. Kaparde

1919 {ooéégiﬁo@ o8& Do ég@ééom BPron THI0EO Hod odardy WD
rEBon Begdh 57

(1) 85 o dr5 By (2) B.D. 5o6&

(3) MR. 2055 4) GS. 53

132. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to

(1) Poligar System of Vijayanagaras

(2) Igta System of Delhi Sultanate

(3) Jagir System of Mughals

(4) Izara System of Mughals

Friveod Joo BV, vdghior Jvo rES 0T D) Hrer DD wHFELe B TES
WP0A B0 Q ArdHnd T sod.

(1) Jzchsds cero scvomd By HgHY

(2) 89 oo stooard ‘asT Agrddn

(3) Bwdene scwod ‘2Ab égéﬁfg’

(4) Bodeso scwoE geoe JFHDd0

133. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
BOFES (A) : Hodgo (BHEed) H0805n wdysToB ¢ J4680® vy ¢85 PO
D oBdo.

80 (R) @ oo @éE é)é? (Do BVE) IBE 00 HE (Ddrednedd Eégcg
TH0LF (H0%8)0Bo.
Ddrgedo

(1) (A) %8052 (R) dzo (A) & (R) 9030 286w

(2) (A) 0050 (R) dzo 520 (A) % (R) 200300 D8 s°¢%
(3) (A) dzo 50 (R) $dyp

(4) (A) 85y 57 (R) dzo
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134. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15™
centuries brought deep changes in the political and religious fabric.

Reason (R) : glhey came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BarES (A) @ 14 $00050 15 oo dwnod® &dd rddBE drdH JgdHes SELS

(POE D05 E oSS0 S, B8 (Jod ore28050 P08 DH 0Sdne
85 Hrdyes DoygdodTron.

¥ (R) @ &% DD 08 DOy 005w &O Hi§ SodasrEob J°g 9% %So

TSneE wrdh T & (osds DT 6.
DIrGedo
(1) (A) $8050 (R) dzo (R), (A) £ 0000 258
(2) (A) £005 (R) Bodr Dm0 523 (R), (A) & HOTHS dSe 526
(3) (A) Q=0 5 (R) gDy
4) (A) 82y 5 (R) dzo

135. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT TH BT 9 THPHIY 39 Lerd DS ?

(1) erons (2) wgrsbdS 9O

(3) o8 A3 Sod§ (4) 28 ar A8

136. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 a"s’géwoeﬁ% B HOTPOH 57K

(D @l TMEadads HFFATS TG DEINI0L HTG s i’o%“’oé ISAICTRSIALICNPPIRPRNS
J*D0 VI '

@

(2) Do(B0% Trerch LT T'SHSBNB0EH TrHTE DGroE Fo(HT000H FDOTH)

(3) wdg Bk 00D ocg@”@éacéa BIIETD TGRS S g Do Foo(HEHE0B
X000 WDI T

(4) =~o& 3@&3 S0ddw ﬁo@ﬁgg P SROLTONO A 23‘%3253@2633@3’39 o3l ?0%5"0@’9 D°0( TP O30
00D oWIE ’ ’
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137. Identify the wrong pair

(1) Aryabhatta —  Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsamhita

(4) Bhaskara — Panchasiddantika
St (800 TAS® DB HOTHD w5

(1) edgaféo — @652;563050

(2) ( Do — Zodsedsgd

(3) SETATS% — )& &dowrd
(4) =08 — Xvo%?oc@ro@g

138. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
&5 (808 &°AS° @ (HoFo SN (Frod BOST HOKHB0E dodob.
(1) 88888 (2) 3¥DH&s°80 (3) Hoddrd (4) L8800

139. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
@ga"éjo (D5°8 %0 ‘Tago’ SIS ©0lHN0E Erd wotod. & (800 IS A& DOOHod
(1) g, wdrds, 208, $od, §%%, o Lodsw $8y
(2) Jrgd, IS, g, §%4, S0 E L0dB» I (8
(3) Fgo, wdrdg, wIDS, $o¢, 59, Sod HodBw (&
(4) g, wdrds, Sary, $od, §%%, S0 o005 Mo

140. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana  (c) Pataliputra (d) Vaishali

& (808 @adg & F°E Doy DIrTFdwes 20D (HTIIwed (Ek Dopgd® (Hasn.
(a) ocrmdysr | (b) Hododdo (c) F0dYP (d) 3%©

(D) (), (b), (c), (d) (2) (b), (), (c), (d)

(3) (), (c), (b), (a) 4 (@), (d), (c), (b)
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141. Match the following

List-I List-11
(a) Kosala (1) Vaishali
(b) Licchavi (i) Kausambi
(c) Vatsa (iii) Viratanagara
(d) Matsya (iv) Sravasti
& 1808 oI wSHGHWokw

Rl | eIl
(a) §*%o (i) 3#d
(b) OBy (i) 8°=~0d
() s (ifi) o635 D
(d) So&yg (iv) 7% ?8

@ b (© @
M v @ G (i)
2) @) G) G @)
@) O @) () (@Gv)
4 @) Gv) (@O (i)

142. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
S0t 88cS? o0& HHHE Hoo(e DS D odD) B0y BEY BB 7
(1) o (2) DoHrdw

3) O (4) gDoyHdm

143. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) Rajan occurs many times in Rigveda
637%865&326& %0 050D &8 (8od FIS® @ (HADED EDypmr 5@6"’&26 &od :
(1) "$g00" %000 &TgEH0 w6700
(2) wrBSH0’ H00D HTgSHN DEYIT
(3) D %000 SHTgEIH wER0d
(4) ‘el o DEHNG SHTgED0 Tror Horgdhines D800
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144. Match the following

List-1 List-11
(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh

S8 (808 &P 2BNLododw

-1 eIl
@ &8 () owuds
(b) vofod (i) Hruc8
(© §5 o (iii) %655 (55
(d) Horow $5°6 oocSs (iv) &35 (HT5

@ ® © (@
) O G 3 Gv)
@ @O aGv) (i) (D)
(G) @) @  (>Gv) (D)
(4) (v) () G (@)

145. ‘Jorwe’ culture belongs to
(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) Ironage
TG D00 )8 & 5ToodH TohI

(1) e %o ddwifo (2) Yy &B8wr dSwifo
(3) Hogg o°® dBwifo (4) 100 5> Sswio

146. Which of the following is not an objective of Swachha Bharat Mission ?
(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
Bod TES° D& H3Wy 88 WIS ©Fgo T
(D eagsﬁg SE e 2) $g8 Vg e 3) Fohgo (4) %oos8880S%0
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147. Read the following statements

(a) Infant mortality means the death of a child less than one year of age.

(b) Infant mortality is the number of deaths of children under one year of age per 1000 live

births.

(c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(2) (b)and (c)

(1) (a)and(c)
B0 (HBBSL0er BEHID

)

(a) and (b) (4) (), (b) and ()

(@) 3% Hoderor wdm Hosd 8o YrosHors D) JwdBoddo
(b) 1000 25r0s® Sos8 808" Y SITond Do dopg verdom 36 Hrdaro Dopgdo

Vg oI 8>
(c) %eno
D (PP SI3d00s® D6/DD Jeo?
(1) (a) S08030 (c)
(3) (a) L08030 (b)

&80 aé&@ 24 oo s*8mo

)
)

(b) S06030 (c)
(a), (b) S0803% (c)

148. Match the following
List-1
(a) Golden Fibre Revolution
(b) Gray Revolution
(c) Pink Revolution
(d) Black Revolution

2 EHSBI0DW

a1
(a) omd W RSP
(b) &S oM HHo
() dowrd JoMh dYDo
(d) S0 29Do

@ @® (@ (@
H @ G @G (@1v)
2 vy @© (@ (i)
(3) @) @v) () @)
@ (@v) (@) @) @

(M)

(ii)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

List-11

Fertilizer

Onion

Petroleum products

Jute production

et Az | |

DI

& aradoo
%D@S”S@o‘éoo EERTSS
IS &SN
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149. Match the following

List-I List-IT

(a) Zamindari system (i) William Bentinck
(b) Drain of wealth (1) Thomas Munro
(c) Mahalwari system (iii) Lord Cornwallis
(d) Rythwari system (iv) Dadabhai Naoroji
B EDHBHBX0

A | eIl
(a) 2oomd JEedHw (1) DO5K> Bo&§
(b) (Parwrom o Do (i) %0 Ho&
(c) oo Sad DEe (iii) or§ 526 O
(d) Begd g8 (iv) ororgron 3°6°=

@ b (© @
() @)  Gv) @O (D)
2 @ @) 3G 3Gv)
G) (Gv) () () (@)
(4) @) Gv) G @)

150. Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals
(b) Better public transport facility
(¢c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only (2) (a), (b)and (c)
(3) (a)and (b) only (4) (b)and (c) only
(ol (DHTJDdwen HBRO0TIDM

100 wodFos SHoce’ (@rR§ Sy ©f ero

(a) %gofoo O (rH§ JodoEn A sodwo

(b) &g (Ferdarn JEorgeooddo

(c) S8nos Hood “Hop Koo HgHHBo EOA sodwo

D (DIBIB00S® B/ Jezo?

(1) () s () (a), (b) $o005» (c)

(3) (a) 20050 (b) Hr(& o (4) (b) 50005 (c) $r(EFo
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(a) The first hour of every parliament day is reserved for questions

151. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(c) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(8o (HHWSLoed Weksydo

(a) (28 & >ID0o& JodE How DHookho (HF)ESHne §ELH Bewrowow &od
(b) JgDowd Fo(dmrdires® rddTY Jogn Rl Hrdg Koo (&8 )
(€) 5°8gRBgErE WIgo D I°gasy Vao(Eem Ve I°gO30 0d SIS
ESJCESIRCRRAIALPVPIRY

() (a) Qo 5°Q (b) S080» (¢) @ Dy

(2) (a), (b) H0080%0 (c) @0 @fbl Qa0

(3) (a), (b) L0060%xn (c) @ @i)l SESRS

(4) (a) H20052 (c) @ Dy H0B» (b) Jzo

152. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
P8 (D0 §°G ‘Trgoh DbE @h5 o) EON &0b. TGOH DwE wdm

(a) o"a9 j_m?é@ @603@?60 HAg 0B o

(b) %00(8%5080 Voo s HAF oWe0

(€) 88 ovQ9D88 Jod adgdo

(d) =03 °p IrHoVS Igre, 5°8gR0gIrE Fog ST orezrgo %Se:’azéo Vgonotad
ISHSESIRSESSLIARINPIRY

(1) (a) S08030 (b) (2) (b) $28050 (c) (3) (d) Sor(BFo (4) (c) 0805 (d)
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153.

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod &AS® HTD wd 0?2

(@) 2.8.08. = S o2 g H0 D odgddd 536?8@ DHODD $Ho00S® ;Y Ty e
(b) Dy sragdn . So(& o°@9 Do ogren

() mobo DHED Tregdn DB (9TH0S® HrvrFo TrEnp e

(d) 8026 Doh aregdw : §oa°6¢§® [SASPASS

Correct answer is
$BS ddrgrddn
1) (@ (2) () 3) (© 4) (d)

154.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and(c) (3) (a)and (c) (4) (a), (b) and (c)
(ol (DHTJDdwen H03O0Bodw

(2) R0 ok RETrGS Horor H0B» RErgS S EoH S 1992 éoéégdé&aé’s
DU"QéJo Dok &od

(b) 658 orergod DITw @rgos B & 0% RNErgS Horo 20BN wdrgd Bdo
DS dovydo Bok &od

(€) er80% ndrgd Horo HOMH WErgd Bheo LHUS IndE BES 2. WS.

Zr’zéozéooééo)
23 8D @35125262633@&3*’ NI ISR
(1) (a) $0805%» (b) (2) (b) H080%20 (¢)
(3) (a) L0605 (¢) (4) (a), (b) S280%» (c)
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Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

155. Consider the following statements

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and(c) (3) (c)only (4) (a)and (d)

[Bod (HSBBImen HBFOoSRD

‘©08S 356" (H5°80 a8 00 90S° wdghdd HBPB 28 HoLETHH LoD A0 00

(a) & 0°090¢° SDHFod HORHHLIT)GD © 0°Ry JEG VgP00WH T

(b) T"4908" 708 F(SSeo wSoHS® VI K555 IgBoIEBHH

(c) o G"X@lgoé’z’ @_‘éooéfg A Foo dIgWroTdo é%zﬁos d)Fo Dopoo E’Dg"@oiﬁé@éo

(d) dgEo& H85°8D rgo° B8, @@90@3’3 @Léé@?géa@o S BT 0%0 0°RIDS
Do&)D BodHBH

K (B BIB5008° DO/ Je20?
(1) (a) S8 (2) (b) 2006050 (c)
(3) (c) & 4) (a) 5005 (d)

156. Read the following ) o ) _ )
Afrﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b)and (c) (4) (a)only

(Bod (HHTIL0en Edodn

e.8 o8 osd 3"@ 8 Jobd 0d dgogdy (Sob é@?géo@é”s E5 IS JPgE 08 wddadko
.

(@) &3 FQ $08 R DHTID P&

(b) &5 8D c“oszﬁz)ocﬁom B0 DYID o

() 85 rd 2bId IBH é§@3§om THH DPS® e TDIDypd Do [gred

®ONID Pk
D (DB SI3d00s® D6/DD Jzo?
(1) (a) $00605% (b) (2) (b) H080%20 (¢)
(3) (a), (b) $060%» (c) 4) (a) érLéﬁo
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157. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BBFES (A) @ TH0oS® &8S® Ho @ 0709 VOTOFT T WS o FIFoEH
e do.

s¥edn (R) @ 0ogh9 20 God STy Deods Bdeo orag VFS'T (DT DB T,

DIFrEEd0
(1) (A) %8052 (R) @ Bodo Jdzo 208050 (A) 8 (R) H0 B0 e

(2) (A) 200050 (R) @0 Bodor dezo 570 (A) 8 (R) 000 d8ew s°¢%
(3) (A) Q=0 (R) oy
4) (A) &5y (R) deo

158. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(¢c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b)and (c) are correct
(3) (a)and (c) are wrong but (b) is correct
(4) (a)and (b) are correct but (c) is wrong

808 [HSaroBy H8%)Hn

(2) ©o 8 Bogwe J ogden grdd crergodods® dygom B8y TS

(b) w@oﬁr@ég@ $080 (dXOS rdE orergodod® B

(c) FoR g8 To(o DGV08, TrargLr G HVrer BHED DV TITA0BE Do)
ISHCESIE-TAL

(1) (a) 20050 (¢) dz=o 57 (b) Sy

(2) (a), (b) L0060%xn (c) @ dexo

(3) (a) H2035» (¢) @ By 572 (b) 2By

(4) (a) $00052 (b) @ 2By 570 (¢) Dy

159. Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
FO(DTPAR 0D DIBY o

(a) dordg 3§ (b) 255 %8 () Br-mrgd (d) weo %8

(D) (a) (2) (b) (3) (o) 4 (d
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160. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
P88 R 9HHOS" 50 8 sdgired Ho oo omrd

(1) 2.29. a0 (2) 3. Dok T
(3) DG TS (4) 6. o

161. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is
(1) (), (b), (c) and (d) (2) (b), (c)and (d)
(3) (a)and(d) (4) (a)and(c)
Bod TS° &8 (HTFE HOT G Ko Targen 2D ?
(a) boerd (b) oS (c) w8896 (d) wgob
DTS ddrgrdo

(1) (a), (b), (c) %2005 (d) 2) (b), (c) %2605 (d)
(3) (a) %2005 (d) (4) (a) %005 (c)

162. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PPESTH0S® wdghs Vugo widHen Ho o°R90

(1) $gg (935 (2) oyo
(3) @&e3SS (HTF 4) Sogd
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163. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (ii) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (i11) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
23 B D B0 bW
ko | >ds-I1
(cr".g“ge;a) (‘56‘9’:‘0%50@9)
(a) SoFTedko () Hostordg, Eoros, adJm), ©o(d (535
(b) (8D (i) 8IS, Hodsg (535, 22207y ©o& 51’%%5, e orgd Hodadn U%QTS
(c) Hoerd (ili) 0BT, wE*So

(d) Beworre (iv) B8¢ $00050 oo o¥
The correct answer is
DTS Ddorarddw
(a) (b) () (d)
(H av)y i) (i) (1)
2 O (i) @) (@1v)
(3) (v) (i) () (i1)
(CORNC) (i)  (@v) (i)

164. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DIHWIJwen W hw
(a) &% $0do wEHL WodIrs H0» Wb dHos® EITow
(b) dTrsroR) wdHer 3a°085 Foder H0H Ser THYE DEFrD (oFos® EAyJron
(c) 38 8T Fo HdWw W Irech (Fozrod® DELY (0 ©EPH©oT°)ow
(d) oo 88D wdHeo Hogg ST savyow
Which of the above is wrong answer ?
= Lééﬁ;ézéoooé”s NI ED
(1 (a) (2) (b) (3) (o 4 (d)
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165. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

BOFXSS (A) : 1921 maryr BE o DES 008 PSS THoS® ©d %@)o@aé 2 I°Y™
$)8 SBrBHO.
s8wn0 (R) @ 1921 dod&y8o S8ard 88 THoS® Hoderro Téo (Edoom gnod.

ISHSESIIRSPSSAIALPVP SR

(1) (A) £8050 (R) @ Tods Jo 0050 (A) 8 (R) D000 D58
(2) (A) 200050 (R) @0 Bodr dz0 570 (A) 8§ (R) H00Hd DHTes s°¢h
(3) (A) d=o (R) 8y

(4) (A) 85y (R) Q=0

166. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

S8 0HDITO TEH ) BTRY/|[Fos) EEHT 00 ?

(1) 28¢ 8o (2) 88088 &0
(3) WIrISS (HTF 4) D56

167. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PSS (A) 1 8 éséé@‘bo@s DEBE BY (DIW0B ISeH Byren 3D.
s¥od0 (R) @ & %o om0l 2ok 9T rodd [rBTED.
DTS VIrgrddn
(1) (A) $08050 (R) Todo Do H08d50 (A) 8§ (R) 000305 958

(2) (A) 0050 (R) Todd dzzo 520 (A) 8 (R) $0005 Dd8es 525
(3) (A) Q=0 52 (R) Dy
4) (A) &5y 579 (R) deo
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168.

Match the following
List-I

(a) Banihal pass

(b) Rohtang pass

(c) Niti pass

List-I1
(1) Jammu & Kashmir
(i1)) Himachal Pradesh
(iii) Uttarakhand

(d) Nathu La pass (iv) Sikkim
Gs (808 &P 2SBDGodw
ERP AR | >Qe-11

@) S 5
(b) & doh 5
() D& 5

d) Sdoor 9

(i) =0y & 5"%&5
(i) wrdrsSS (HTF
(iii)) sSorpod

(iv) 280

Correct answer is
$TS ddrgrdo

@@ b (@© (@
(D @Gv) (@) @) @)
2 @O @) () ()
(3) Gv) () @) (D)
@ (@O @) (@v) (i)

169. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.
Reason (R) : The ports provide access to the raw materials available in the hinterlands of

these ports as well as to the world markets.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
PSS (A) PEETH0S Y §° ST, HwoBow W0 BF) & THoH wH &)
PRE (@ozrod® iP&@*’&bé @’O@"@o o ©)DH)HTowmon.

& 68 THoo P FPhE (Foerod® ©hoB & DKo Fodw s
$o008» (HHoW HrT) Lol T8 wdopHm sI)ow.
(1) (A) $8050 (R) @ Tods do H0050 (A) 8 (R) D000 D58

(2) (A) 200050 (R) @0 Bodor dezo 57 (A) 8 (R) 000 Dd8en s0°¢%
(3) (A) Q=0 57 (R) 8Dy
(4) (A) 5y 57 (R) dzo

sSeobn (R)
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170. Match the following

List—I List—II

(a) Manganese (i) Madhya Pradesh

b) Nickel ii) Odisha
Ec)) Lead-zinc Eii?) Rajasthan
(d) Asbestos (iv) Telangana
2 S DBoHD0
eI eIl
(a) Sroddbo () S8y Bkl
(b) J3S (i) 2&Jy
() 20Hw-20f (iii) o=
(d) o2 (iv) Boome

@ b  © @
@ Gy ) ()
@ v Gi) G ()
G O G Gi) ()
@ (v G G )

171. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b), (c) and (d)
(3) (b)and () (4) (a)only
(Bod &°dS° D& (rdd (@Y ©08 sigiuorareo $5188 TokhEos?
(a) e (b) ésﬁwsé’\)giaéo (c) oo (BDg%0 (d) SgdJrado0
DTS ddrgrdo
(1) (c) $06050 (d) (2) (b), (c) H0805» (d)
(3) (b) L00050 (c) 4) (a) drEDo
172. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and (c) (2) (a),(b)and (c)
(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod aJS® T ol (dgrdom HE Sod odohibn?

(a) VEor)8 sHon Ho VEST0E wdHod

(b) Sher)& sHo o 0Ty wdHo

() VEEH0E FyomrsedYy wdHoo

(d) 270 3ol us°8Y sHHo o 9B wdHoo

DTV war o

(1) (a) $:605 (c) ) (a), (b) $:505 (c)

(3) (a) $:605% (b) 4) (a), (b), (c) B0 (d)
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173. Consider the following crops

(a) Cotton (b) Groundnut (¢) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and (b) (2) (b)and (c)
(3) (a), (b) and (c) (4) (b), (c)and (d)
(Bod Hovedn HBRDoWL®
(a) ©&8 (b) SSo¥Sd (c) @ddago (d) A*ooen
D 8S® 2D p8% Doved
(1) (a) $080%» (b) (2) (b) 006050 ()
(3) (a), (b) L2050 (c) (4) (b), (c) B850 (d)
174. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
8 I s5eLee08 SO0 Snd FTEod AT B J°s°(Fo%0
(1) Jmpdeen I se(¥ako (2) &HS Is°(¥a%0
(3) Sommrs I°se(f0s0 (4) 865 s ($%0

175. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bod TR D Bifen Bo& OE (oD @odHrS-J5° Sod® SESESISTES A [et)
(1) odz° (2) H0o0dk 3) Dosgd (4) woeoe

176. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&g SoHod® Boomn (Fozed8 wd) ErHos® E0y0F & SEmen 1980 &0 § Hrdo
DHO HEH wHhHens® Gotron. 500 Zedorerd 0005w D8o(mrerd @od SHSswo st o (e
©@d 1977 &0 § HrHo DHO HBH @ wHhond® sotron od BOD HE¥o

(1) =& drero DEE0 (2) on dorg dP¥o

(3) ©Po BE adyodo (4) SDoddrE DEEo
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177. Which one of the statements is not correct ?

(1)
)

3)
4)

Article 371-°D’ facilitated for the Zonal system in Andhra Pradesh.

Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under
the six point formula and Presidential order.

Kamalanathan and Umapathi Rao were the members in the officers committee.

Abdul Khadar, a senior [.A.S. officer was appointed in 1985 to scruitinize the officers
committee report.

& (300 EgEIweS® O HOTHIO 52K

(1)
)

)
(4)

8085 371 ‘& (H5°8%» wo(¢ (DTFS® IS HgHY AT Y&0 ©0o00d

e drere DEEo Hodadn T%jé@ & E B0 GLYOPII Vel B S0 E ©0(&
(PTF (Dehdgdon wcSherdE TG 0 1984¢° JosdoDod

EHooPES H00 05N GITDHE T ® ‘@%3705(3 E0e3 es® ISEASIIGN

@%3705(3 E0¢ ©0H0DVS ITHED H68DoBowE 1985¢° © 29 grib el 2000586
0.0.00 @58 JN0S B>

178. Match the following

(2)

(b)
(c)
(d)

(a)

(b)
(c)
(d)

List-I List-11
My Telugu Roots : Telangana (1) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
Battleground of Telangana (i1)) Gautham Pingali
The fall and rise of Telangana (ii1) Venugopal
Telangana—United Andhra Illusions (iv) Kingshuk Nag

& (800 G 2BBGHW0

AR | rde-11
0 B Srdy : Boomrs Q& (i) SoTrd BESO
QD5r08- PIryhd I8
g (TPob & Boome (i) Ao Dor®
& S vwob TO vp Sworn (i) Seof*rS
BOOMH-BNIBVE @0(§ a00gER) (iv) 80A%0E oA

(1)
2)
3)
4)

@ b (© (@
(v) (i) () (i)
@ G) (i) (1v)
i) (Gv) () (i)
(v) () Gi) ()
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179. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

& (Bod T8 (Zdrdothmon wdyod

(a)
(b)
(c)
(d)
(1)

)

Declaration of K.Chandrashekar Rao Fast unto death.

Telangana March to Necklace Road.

Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

3. Fo(3FwE o) wHn IETERE (DELD

BEES 5& »8 SBvomrm 26?52)

(&, §&odkoro eronod wES e (JAC) éi)s;égm Q0330508 K0
w000l ©ES ENE H00d Beodd THo >r§  Wh S

(@), (d), (b), (¢)
(b), (a), (d), (c)

2) @), (), (d)
(4) (a), (c), (d), (b)

180. Match the following

(2)

List-I

Goreti Venkanna

(b) Nandini Sidha Reddy

(©)
(d)

Guda Anjaiah

Gummadi Vittal Rao

Ss (808 FPAQ 2SBDNGosdw

(a)
(b)
(c)
(d)

EatAlacat |
&3¢ EISESAY
$089 Do TG
8- wowalog
HH & DES o°)

@ b © @

List-I1
(i) Ayyoniva Nuvu Avvoniva
(il)) Amma Telanganama.....
(ii1) Palle Kanneeru Pedu Thondhi
(iv) “Nageti Sallalo Na Telangana.....

eIl

() oTrgds SodHg oD

(i) odory Svomrnddr,..

(i) B £ % k8 0d

(iv) ">AE FEHst > Boomrem...

(H @  Gv) @) ()
2) @) Gv) @O (D)
G) Gv) @) (D) (i)
4) () (@) @O @Gv)
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181. Match the following

(a)
(b)
(©)
(d)

List-I
Dimsa
Adrak ke Punje
Perini Dance

Pittala Dora

83 (800 7P BEDHSHWkD

(a)
(b)
(c)
(d)

(1)
2)
)
4)

Rt AEC |
QR0
o35 B Do&
08 @)
%aééae) &8
@ ® @© @
) @) @) (@v)
1 @Gy () (1)
i) (1) () (@1v)
(iv) (i) @[ ()

List-11
(i) Babban Khan
(i1)) Gonds
(ii1) Fastest dance form

(iv) Budiga Jangalu

eIl

(1) S &S

(i) A*oddoen

(i) SHL0EZos HySgHn
(iv) o&¥ eomren

182.

Match the following

(a)
(b)
(c)
(d)

List-1
Ramlingeshwara Temple
Erakeshwara Temple
Sita Ramaswamy Temple

Venugopalaswamy Temple

Ss (800 TG wSEDHSWDw

(a)
(b)
(c)
(d)

(1)
2)
3)
(4)

R AR |

5000438 weodsho
o)dér‘ésd @000
%o@dl’c‘éoﬁ"sgb GO O30
B FoIIN o080

@ & © @
(v) (i) () (i)
i) () G) ()
(v) (i) @) (i)
@ Gi) () (1v)

List-I1
(1) Dichipalli
(i1)) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

eIl
(i) &0
(i1) §°0&Do
(iil) DyodHd
(iv) So0b&0d
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183. Match the following

(2)
(b)
(©)
(d)

List-1
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara
Singaraya Jatara

Ss (808 TG DS

(a)
(b)
(c)
(d)

(1
2)
3)
(4)

eI
éaﬁlog"océ EadaYet
$oeEDY rEY
i’o%ﬁo@ﬁoég Al el
ESYeYefortosl- 1 Yol

@ ® © @
(i) (i) G (@v)
(i) @v) ) Q)
(v) (D) (i) ()
@) @G) (@Gv) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iii)) Anjaneya Swamy
(iv) Lingamanthula Swamy

eIl
(1) @ég SEDOT g
(ii) ?oé%séﬁé"’cgib
(ii1) &902330‘59@13330
(iv) ©oifdoodoroIgad

184. Match the following

(a)
(b)
(©)
(d)

List-I
9™ month of Islamic calendar
Moharram

10th day of 12th month of Islamic calendar

Milad-un-Nabi

& (800 TBEY wSHEEHI®

(a)
(b)
(c)

(d)

(1)
2)
€)
(4)

AR |

ag*§ s°gBoEs EQdd Vo
v [efe

208 5°gT0ES DT oKD
TS HEd &

Dord &S 39

(@ b ( (@

(i) (1) (@Gv) (i)

(i) (@Gv) (@) (1)

@ @Gv) @) (i)

@iv) (@) (1) (i)

List-11
(i) Prophet Mohmmad’s birthday
(i) Bakrid
(ii1)) Ramjan
(iv) Shiyas

o1l
() B8 (D08 233830
(i) (88

(iii) SoeS

(iv) 2osreo
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185. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
s 800 aS° DO VOTPD @l 52
(1) vowrd THyo Ford DN — Voddg I°asS
(2) 876 &2d TH e Ford DS — JoFYP JedHIrE 776
(3) $BE THpo Ford DB — S e S8yodorD)
(4) o8O o Ford VB — Provd e

186. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development
1952 &° DCSQ&:S 8o TroE)arory) 2o(@ HEHdH Do 0sow BB 570 wd A8?
(1) Dord SaeE 2oh — Lﬁawé’sﬁgéw, (Derddo
(2) Qo. B")BE — HgHIr0hdd HoOdbn (D
(3) &do Sord) Dok — wodIohs HgdTPorew
(4) %086 BS — esg H20 T3 (e @@égég

187. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.
(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao
1955 28 HrdHns® 2005 Beoth grar S8 HErITI8 e L HIrdr TIrod) y@%om
DForo($ ¥ rddm ad BT HarFod.” ol FgargdoNod.

(1) §ow Bogd Somr TE (2) o cEyrorD)
(3) Srdare Trdodoodord) (4) Sododwe SdyoHorD)

188. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?
(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji
(3) S. Nagappa (4) K. Rajamallu
1963 &° 8BS HoLHTE (HehSgHodn HgBTIIT “wo(f (Hehdgdn, Tho (Hebsgim,
Bé@@ §°8% Hod s Bc%@?ﬁ” M) w"ga?sibo{’,)o&
(1) &.93. éw’@é& (2) Soa® of & P
(3) 2. AD) (4) 3. occedoo
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189. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation

o9 PI6 dFwd NS H00d Trer Hod rohen Jew 2D WP(PaRDdw (D5°EHW
“@@ég@ﬁo&é o($Trod (FoS0E FE & (FoBHd JEoerE 9wy EODHS
©d @080 S8 b H050dD grHowd.”

(1) Blo¥eren #3550 (2) @958
(3) I 08 (4) ©oddg HodH

190. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 800 (HITIw0S® b VT 5782

(1) DG Hodote 2dyoddn (5850 FIhgehe® 28dS Th Jdrisold) aoye
(EHOET wdorozromn.

(2) 2.4. To. 610 J Jdo T0d 0rR 908 g Hooe® 8ol Iarddo
Q008 Soomrn (D 2EHNIEIS) WIPGsHNO[ Jard o3 Q& 5.

(3) & IO 2HHodHN (HsTEDH0 7R Y STSQB@SQS'B gl (FroerodH wo(F-Bwonrs
(Froere 08 $o0(® DEHoo 50 : 50 L HBS® sowed.

(4) 1953 &° 28 (Pehdgdn wPd Had ®d Togéaésoej's ocR9dne PI& defed
EH 8D %00 N0b.

191. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
e DB Benth (DB HBH IGLE o0& ?

(1) Sroocw §846 oo (2) =488 Sommdogen
(3) TBHBVO crdrdiaod) (4) ©3d wrdoce
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192. Match the following

List-I List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1) Munir Jamal
(¢) Tenugu Vani (iii) P.Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
& 1808 oI wSHEHWokw

AR | eIl
(a) ©&& (1) Hr0é SHrscodord)
(b) B Bworrs (il) 06 2drd
(c) 8dofs &°e3 (i) ®. =argS B
(d) Seods o (iv) . DEgoorcsoem

(1)
2)
)
4)

@ & © @
) @Gv) GiD) )
i) () Gv) (i)
() (i) Gv) )
(i) G G ()

193.As a

part of the Economic reforms and on the recommendations of World Bank, the then

Andhra Pradesh Government divided Andhra Pradesh Electricity Board into

(1)
2)
3)
(4)

Generation, Transmission and Construction
Generation, Transmission and Distribution
Hydel Power, Solar Power and Thermal Power
Distribution, Construction and Transmission

eaaé (oocozrésaéaaé's o 000dw (Do z?goé‘o Drddedh odohoonr &9@3&3 @0
L@B% o°R9 (DehEgo TRy Z)dagiﬁ})% 25%63263 Hordo Hopenm DgEoDod.

(1)
(2)
(3)
(4)

@ég@ DEHoC Hodosw @w&eao

@ég@ DEHo° S0 0%n Howed

2O &')65055 Jteb Dcﬁogéo Hod dsw 656%5 Ddogéo
Howes, 30“’&8@0 N0 s bHoe

194. Which one of the following statements is not correct regarding 1969 Telangana movement ?

(1)
(2)
)

4)

Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
Telangana people will not accept less than Regional Autonomy : C.C. Desai

Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

Prime Minister should take political solution to the Telangana movement : K.L. Gupta

1969 Soomre &ég?ﬁoéxéé D0 0HowW & LEO& Liazéiﬁzééao@eﬁ's D8 Yo@@é& 50850

(1)
)

3)
(4)

BO0oMmre Lcoea@o gl (DOSNE OPR 9NN PRI (DB)0WIE ¢ A.B. a2ar0m.
Boomr (Dee @vo@oﬁo cosoﬁao é’\)cr’oﬁaé (P8BS Eo ééazré (DBRLI0 ©0AEd0WS:
C.C. Baomm.

FED0wS® Boomn D (HFHK00(B @ (HEGIB DD $00& Bvomrn (HerHdR S
T30 D0 @o@&ow@ K. S5 3858.

(PEPODH0(8 Boomrn &EgHHNIE ore3 & 050 DO FHdo §263§’52r$§e>0503260 :

K.L.
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195. Match the following

List-1 List-11
(a) Porakala Dora (1) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(c¢) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
&5 (800 TP wEDHBoHw
e -1 e 11
(a) PIgo &Y (1) #dd8o 305'(‘3?§Sgo
(b) &g (i) ©%d @éés“oéo
(c) o0 (iif) S0 y¥ oF6 v
(d) S0bd (iv) 28 0T JFo BHoeH

@ b © @
(H ) Gv) (@O (i)
2 @) ®H (Gv) (i)
G) O @) @i (Gv)
4) (v) @G (@ (i)

196. Match the following

List-1 List-11

(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i)  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
& (800 I wEHBHW

eI eI
(a) 8 dSrg e (1) A58 Roew @6558130 LEPFLgdoer, Powdd
(b) ﬁoﬁséi’(gf’soﬁo g (i1) Z)Cﬁogzﬁt) §
(c) &3 orHEyaror)) Sl (i) (DEg Jod foofg@o
(d) Qo omgo Enes (Iv) w8 ddg

@ G © (@
M @ @) (@) (D)
(2) @) @) G @)
) @) @ (v) (i)
(4) (@) (Gv) @) (1)
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197. Match the following
List-1
(a) Jai Bolo Telangana
(b) Shadow lines
(c) Still seeking justice

List-IT

(1) Shanker
(i) Prem Kumar Aman
(ii1) K. Chandrasheker Rao

(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana

&s (808 TP 2SBDNGosw

Rl | a1
(a) B &°¢° Boormrn (i) %0&6
(b) & B3) (i) (Do %6 @S
(c) 26 28oA 2%d (iil) 3. So[&BE oD
(d) srgosoo §%%0-Bwomre 6 (Iv) &QryQ0sr 05838 P80 HE Boormren
(@ G ( (@
I @ (@) Gv) ()
2 @O @G @) (@v)
3) @ av) aG) (i)
@ ) @ (Gv) (i)
198. Match the following
List-I List-11
(a) V. Prakash (i) Telangana Janasabha

(b) Bhoopathi Krishnamurthy
(c) Muralidhar Deshpande

(i) Telangana Mukti Morcha
(iii) Telangana Mahasabha

(d) Akula Bhumaiah (iv) Telangana Prajasamithi
& 1808 B 2EHLEH0
eI eI
(a) Q. (DR (1) Boomres =d e
(b) FrHd EHyhHord (i) Bowomren H0§ Ird)
(c) $089586 BFTrod (1ll) Sowomres HoHsdeY
(d) o%Ho grdadg (Iv) Sowormre (De D0
@ G @© @
(D) Gv) @Gy @) (i)
(2 @Gy @Gv) @@ @)
() ai) @Gv) (1) @)
4 @Gv) (@) (@) @)
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199. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1) Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge
(2) Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad
(3) Digvijaya Singh, Veerappa Moily and Ahmed Patel
(4) Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ (PTF 0°Ry IFaed rgoe wE I HoTIhg DHVgods HOXHSE VD ¢
HOFY PH0IE S drSder aB)y IWEDn rdE (Hehsgo ALK ©ofd egggss
.8 18 ooVod. & ENSSED dgogen

(1) 6hgedi 2of, o8 HES H0050 Hoerdod o3
(2) &hgedd Doh, i)déaﬁooow@ $00 030 Hoerodd) werd
(3) &hgeds Doh, 56633&3033@ $28050 @Iy 8 HES
(4) 6hgad 2oh, ©ry8 DTS Hr0dsn Do Yo

200. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(¢) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees
& (800 TG 2dDHoWodw

AR | eIl

(a) LD (1) add JFdrd
(b) o ) (i) &
(c) daorgen (iil) oreen
(d) ZrSocers (iv) 338 DS

(a) (b) (c) (d)
() (i) ®  (Gv) (i)
2 Gv) () @ (i)
¢ O Gy G (3Gv)
(4 G (Gv) (D) @
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